
IMSB22 22 NOZZLE BOOM
For use with Gas and Hydraulic Pump Units



158

6

2

3

31

23

17

7

13

12

1

18

20

19

10 111212 1095

30

212322 14

16

4

11

10

12

26 824 25

27

28

629

32



ITEM NO. Part # DESCRIPTION QTY.
1 CFSN05M05M17 1" x 4" Stainless Steel Nipple 1
2 CFSN05M05M12 1" x 1-1/2" Stainless Steel Nipple 4

3 CFSS05M05B304 1" MPT x 1" SS Hose Barb 2

4 CFSCR05F304 1" Threaded SS Cross 4

5 CFST05F304 1" SS Tee 5
6 CFSRB05F00M304 1" x 1/4" SS Reducer Bushing 16

7 CB100A 1" Male Adapter x 1" FNPT 1

8 CB100C 1" Female Coupling x 1" Hose Shank 4
9 CFSN00M00M78304 1-4in NPT x 7-8in nipple SS 14

10 CFSE00F00M304  1/4" SS Street Elbow 16
11 CFSU00F00F304  1/4" SS Union 14
12 CNST019 Teejet Tip ST. STL solid stream MPT 6 GPM 22

13 CXSC0002 Cable Tie 8" 2
14 AZFPM015  1" Pipe Clamp 3
15 CFCW003 Clamp For 1" Hose 6

16 CHWSF123 1.25 Stainless Washer 6
17 CHBS030723C 3/8"  x 1-1/2" SS Carriage Bolt 4

18 CHNSH0323 3/8" SS Hex Nut 4
19 CHWSF033 3/8" SS Flat Washer 4
20 CHWSL033 3/8" SS Lock Washer 4
21 CHBS011323 .25 x 3 IN 18-8 Stainless Hex Head Bolt 6
22 CHNSN0123  1/4" Stainless Lock Nut 6
23 CHWSF013  1/4" SS Flat Washer 23
24 CLUESB020005 1" Hose (To Driver Side Nozzles) 1
25 CLUESB020005 1" Hose (Center Boom Hose ) 1
26 CLUESB020005 1" Hose (To Passenger Side Nozzles) 1

27 AZFPM025 SS Boom Shroud for T-series 1
28 CPFG16 2 inch ID Grommet 4
29 CFSN05M05M34  1 IN x 34 IN Nipple 304 SS 2

30 CHNSR01218 .25 Stainless Steel Rivet Nut 17
31 CHBS010523 .25 x 1 SS Bolt 17
32 CHWSL6063 M6 STAINLESS STEEL SPLIT LOCK WASHER GRADE A2 17
33 CTMT003 3M 983 Conspicuity Tape 2 inch x 6 inch Red/6 inch White 7'

34 CTMT007 ANTISLIP TAPE 4 inch 4'


	Sheet1
	Drawing View3

	Sheet2
	Drawing View2

	Sheet3

